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- Appendix B

Statement: the only ESS in the Norms game (assuming continuity and using
Axelrod’s parameters) is the state of total norm collapse (b, = 1, v; = 0 for all 7).

Proof: Please bear in mind the definition of ESS and that eq. (3) and (4) must be
fulfilled for the state to be an ESS. The following proves that the only state that
satisfies all these conditions is b; = 1, v; = 0 for all i. All variables are assumed to be
within the feasible range. We start by proving that a necessary condition for a state to
be an ESS is that every agent is following the same strategy.
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Thus we have proved that a necessary condition for ESS is that every agent has the
same strategy. We assume from now on that p, =B v, =1V Vie©
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Therefore it is proved that (b; = 1, v; = 0 for all i) is a necessary condition for ESS in
the Norms game. Now we prove that it is sufficient. Let m be a potential mutant
agent.
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